

PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

February 14, 2018

Ms. Kirsten Walli

PIAC FILE # 6683

Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON

VIA E-Mail 11 pages

Dear Ms. Walli:

M4P 1F4

Re: Board File No. EB-2017-0087 - Union Gas Limited

AMENDED Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

On Thursday, February 8th on behalf of the Vulnerable Energy Consumers Coalition (VECC) we filed their cost claim with respect to the above noted proceeding. It has just been brought to our attention that their was an error in the total fees claimed on the Affidavit. We have amended the affidavit to accurately reflect the total of costs as claimed on the Statement of Fees for each individual.

Please disregard VECC cost claim dated February 8th 2018 and replace with this amended claim.

We apologize for our error and any inconvenience this may cause you.

Thank you.

Donna Brady Office Administrator

C

cc: Union – Adam Stiers – <u>astiers@uniongas.com</u>

Counsel - Crawford Smith - csmith@torys.com

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

- Required da - All claims m	ata input is indic oust be in Canad	ated by yellow-shado ian dollars. If applic	able, state	ormulas are embedded in the exchange rate and country of	of initial currency.	vith calculations.
Disbursemen However, on - The cost cla - A CV for each	nts Being Claime ly one "Summar im must be sup ch consultant/ar	d") is required for ear y of Fees and Disburs ported by a complete nalyst must be attach	ch lawyer, sements" co ed Affidavit ed unless p		ling student/para rty's cost claim sho of the party. escribed on the Co	ould be provided. est Award Tariff.
File # EB-	EB-2017-0087	,		Process: Union Gas L	imited	
Party:	VECC			Affiant's Name:	Donna Brady	
HST Numbe	er: 13059 2	405		HST	Rate Ontario:	3.94%
		Full Registrant Unregistered Other		Qualify	ing Non-Profit Tax Exempt	
				Affidavit		
l,		Donna Brady		, of the City/Town of		Ottawa
in the Prov	ince/State of	Or	ntario		, swear or affir	m that:
2. I have exar Being Claimed 3. The attach Disbursemen Ontario Energ 4. This cost cl	mined all of the d", "Statement(s ed "Summary of ts Being Claimed gy Board proces aim does not in	documentation in su s) of Fees Being Claim Fees and Disbursem I" include only costs s referred to above. clude any costs for w	opport of the ned" and "S ents Being incurred ar ork done, o	(") and as such have knowled is cost claim, including the a statement(s) of Disbursemer Claimed", "Statement(s) of and time spent directly for the or time spent, by a person the irection on Cost Awards.	ttached "Summar nts Being Claimed' Fees Being Claime e purposes of the	y of Fees and Disbursements '. cd" and "Statement(s) of Party's participation in the
Signature o	of Affiant					
Sworn or a	ffirmed befo	re me at the City,	Town of	Ott	tawa	
in the Prov	ince/State of	C	ntario	, on	FOR / (date)	7-2019
Commissio	oner for taking	g Affidavits	*		(date)	

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

File # EB-	EB-2017-0087		Process:	Union Gas Limited
Party:	VECC			
		Summary of Fee	s and Disburse	ements Being Claimed
Legal/con:	sultant/other fees	\$	7,927.50	
Disbursen	nents	\$	15.45	
HST		\$	312.35	
Total Cost	: Claim	\$	8,255.30	

	Payment Information	
Make cheque payable to:	Public Interest Advocacy Centre	
Send payment to this address:	1204-ONE Nicholas Street	
	Ottawa, ON	
	K1N 7B7	

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2017-0087		Process: <u>U</u>	Inion Gas Limited	
Party:	VECC		Service Pro	ovider Name: Ben Segel-Brow	n
	SERVICE PROVIDER TYPE Legal Counsel	(check one)	Year Called to Bar 2017	Completed Practising/Years Experie	of Relevant
	Articling Student/Paralegal Consultant Analyst		2017	Hourly Rate:	\$170
	For Consultant/Analyst:	CV attac	hed ided within previous	HST Rate Charged (enter %):	3.9%

			within previo					
St	atement o			_	N. Terretoria			
	Hours	Но	urly Rate	S	ubtotal		HST	Total
Pre-hearing Conference								
Preparation		\$	170.00	\$	<u> </u>	\$	-	\$
Attendance		\$	170.00	\$	2	\$	12	\$ 9
Technical Conference								
Preparation		\$	170.00	\$	-	\$	-	\$ -
Attendance		\$	170.00	\$	-	\$: - :	\$
Interrogatories								
Preparation		\$	170.00	\$	2	\$	-	\$ <u> </u>
Responses		\$	170.00	\$	-	\$	-	\$ 2
Issues Conference								
Preparation		\$	170.00	\$	-	\$	(#)	\$ -
Attendance		\$	170.00	\$	-	\$	(50	\$ _
ADR - Settlement Conference						<u> </u>		
Preparation		\$	170.00	\$	846	\$	144	\$ 2
Attendance		\$	170.00	\$	100	\$	-	\$
Proposal Preparation		\$	170.00	\$	(\$	-	\$
Argument								
Preparation	1.50	\$	170.00	\$	255.00	\$	10.05	\$ 265.05
Oral Hearing								
Preparation		\$	170.00	\$	(-)	\$	7-0	\$ -
Attendance		\$	170.00	\$). -	\$	-	\$ -
Other Conferences								
Preparation		\$	170.00	\$	72	\$	-	\$
Attendance		\$	170.00	\$		\$	340	\$ THE
Case Management		\$	170.00	\$	(=)	\$) = 3	\$ -
TOTAL SERVICE PROVIDER FEES				\$	255.00	\$	10.05	\$ 265.05

Feb 08, 2018 10:50:22

Public Interest Advocacy Centre

Client Summary

Date of Report: **Include Transactions:**

Sort by:

Suit

Non-Cher

17011 he. Jan 01, 1980

Feb 08, 2018

Report by:

Working Lawyer

Feb 08, 2018 to

Alphabetic

For Lawyer(s):

Ben Segel-Brown

Client Range:

6683

6683

Page:

User:

1

7

Non-billable Time Excluded

Area of Law Range: 1 to 199

Mat Client Name		Matter Description	Resp				
Code			Work in Progress			Billed	
N/B Description		Hours	Fees	Disb.	Hours	Fees	Disb
OEB EB-2017-0087		OEB	BSB				
Review and comment on draft arguments and record	BSB	1.50	255.00				
al Client:		1.50	255.00	0.00	0.00	0.00	0.00
nd Total:		1.50	255.00	0.00	0.00	0.00	0.00
	N/B Description OEB EB-2017-0087 Review and comment on draft arguments and	Code N/B Description OEB EB-2017-0087 Review and comment on draft arguments and record al Client:	Code N/B Description Hours OEB EB-2017-0087 OEB Review and SSB 1.50 comment on draft arguments and record al Client: 1.50	Code N/B Description Hours Fees OEB EB-2017-0087 OEB Review and comment on draft arguments and record al Client: 1.50 Work in Progress	Code N/B Description Hours Fees Disb. OEB EB-2017-0087 OEB Review and comment on draft arguments and record al Client: 1.50 255.00 0.00	N/B Description Hours Fees Disb. Hours	Code N/B Description Hours Fees Disb. Hours Fees OEB EB-2017-0087 OEB Review and comment on draft arguments and record al Client: 1.50 255.00 0.00 0.00 0.00 0.00

Benjamin Dean Segel-Brown Professional Corporation PH08-1203 Maritime Way Ottawa, ON K2K 0H5

STATEMENT OF ACCOUNT

February 8, 2018

TO: VULNERABLE ENERGY CONSUMERS COALITION c/o Public Interest Advocacy Centre

Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re: EB - 2017-0087

Union Gas Limited

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$170.00 per hour

To receipt, review, on behalf of VECC in the above-noted proceeding.

January 2018

TO: Hours

1.50 Hours @ \$170.00 per hour

255.00

HST @ 13%

33.15

TOTAL AMOUNT DUE AND OWING:

\$ 288.15

Benjamin Dean Segel-Brown Professional Corporation CRA Account Number - 78729 8488 RT0001

10: HEB. 8-20

Accounting - Proposepoor/
Scannon PIAC FIGH

6683 FEB. 8-2018 PLEASE NO16 AS of TODAY'S DATE THORE ARE 10.3 REGISTAD COPIES ON MACHINE 12: 1-16 6683- UNION GAS 103 × 0.15 = 15.45 THANK YOU. Hilroy

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2017-0087	Process: Union	Gas Limited
Party:	VECC	Service Provider Na	me: Ben Segel-Brown

	N	et Cost	HST	Total	
Scanning/Photocopy	\$	15.45		\$	15.45
Printing				\$	2
Courier				\$	41
Telephone/Fax				\$	-
Transcripts				\$	-
Travel: Air				\$	-
Travel: Car				\$	× .
Travel: Rail				\$	
Travel (Other):				\$	
Parking				\$	-
Taxi				\$	-
Accommodation				\$	1
Meals				\$	-
Other:				\$	
Other:				\$	-
Other:	1			\$	
TOTAL DISBURSEMENTS:	\$	15.45	\$ -	\$	15.45

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0087		Process: U	Inion 2018 Rates	
Party:	VECC		Service Pro	vider Name: Mark Garner	
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Legal Counsel			30	
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	ched	HST Rate Charged (enter %):	3.9%
		✓ CV provi	ided within previous	24 months	

S	tatement o						
	Hours	Но	urly Rate	- 1	Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	330.00	\$	-	\$	\$ 3
Attendance		\$	330.00	\$		\$ ©2°	\$ 2
Technical Conference							
Preparation		\$	330.00	\$	-	\$ -	\$ -
Attendance		\$	330.00	\$	-	\$ 175	\$
Interrogatories							
Preparation	6.5	\$	330.00	\$	2,145.00	\$ 84.51	\$ 2,229.51
Responses		\$	330.00	\$	-	\$ 840	\$ <u> </u>
Issues Conference							
Preparation		\$	330.00	\$	-	\$	\$ -
Attendance		\$	330.00	\$	(d)	\$	\$ =
ADR - Settlement Conference							
Preparation	5.5	\$	330.00	\$	1,815.00	\$ 71.51	\$ 1,886.51
Attendance	4.5	\$	330.00	\$	1,485.00	\$ 58.51	\$ 1,543.51
Proposal Preparation	0.5	\$	330.00	\$	165.00	\$ 6.50	\$ 171.50
Argument							
Preparation		\$	330.00	\$	-	\$ -	\$ 9
Oral Hearing		,					
Preparation	3.25 3.3	\$	330.00	\$	1,072.50	\$ 42.26	\$ 1,114.76
Attendance	3.0	\$	330.00	\$	990.00	\$ 39.01	\$ 1,029.01
Other Conferences							
Preparation		\$	330.00	\$	141	\$ -	\$ -
Attendance		\$	330.00	\$	(#)	\$ (2)	\$ 92
Case Management		\$	170.00	\$		\$ 3#8	\$ 1+
TOTAL SERVICE PROVIDER FEES				\$	7,672.50	\$ 302.30	\$ 7,974.80

Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Bill To Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

Statement of Costs

Date	File #
2/6/2018	2018009

Terms	Docket No.
Net 30	EB-2017-0087

Project

Union 2018 Rates

Serviced	Item	Description	Hours	Rate	Amount
11/9/2017	Interrogatories Preparation	MG: Prepare Interrogatories/review evidence/draft notes	4.5	330.00	1,485.00
11/10/2017	Interrogatories Preparation	Finalize Interrogatoires/notes	2	330.00	660.00
12/12/2017	ADR Preparation	MG: Review interrogatory responses/draft settlements notes/email discussion with PIAC/VECC	5.5	330.00	1,815.00
12/13/2017	ADR Attendance	MG: Attend Settlement Conference 9:30-2pm (PIAC Lawyer not attending)/email discussion with PIAC/VECC	4.5	330.00	1,485.00
12/15/2017	ADR Proposal Preparation	MG: Review draft settlement agreement/email discuss with VECC	0.5	330.00	165.00
1/8/2018	Oral Hearing Preparation	MG: Review Day 1 transcript (Presentation of Settlement Agreement)/draft argument for Day 2 Hearing/discuss with PIAC-VECC	3.25	330.00	1,072.50
1/9/2018	Oral Hearing Attendance	MG: Attend Day 2 of Hearing and present VECC argument re cost allocation of Panhandle	3	330.00	990.00
		Subtotal			7,672.50

HST #10160 6028

Total

Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Public Interest Advocacy Centre

Bill To

Suite 1204

S	ta	te	m	e	nt	0	f	C	0	S	ts

Date	File#		
2/6/2018	2018009		

1 Nicholas Street Ottawa, ON K1N 7B7		
	Terms	Docket No.
	Net 30	EB-2017-0087

		Project			
		Union 2018 Rates			
Serviced	Item	Description	Hours	Rate	Amount
		HST on Sales		13.00%	997.4
			HST #1016	HST #10160 6028	

Total \$8,669.93